Swift Guitar Lessons
“Because” By The Beatles 80 BPM

Chords Needed:
C#m: X46654
Ebdim: X6764X
G#maj: 466544
Amaj: 577655
A7: X0568X
A7+13: X0567X
Dmaj: XX0232

Ddim: XX0131

Structure:

Instrumental Intro Verse Progression:
C#m ////1//// Ebdim: //// | G#maj //// | Amaj //// C#m ////| A7 ////| A7+13////1
Verse 1-2 Progression:

Dmaj //// | Ddim //// | C#m ////1//// Ebdim: //// | G#maj //// | Amaj //// C#m //// VA7 ////| A7+13//// 1 2x
(Verse 1: Ahhh...Because the world is round...) (Verse 2: Ahhh...Because the wind is high...)

Bridge Progression:

Dmaj //// 1 Ddim //// | F#maj //// | //// | G#maj //// 1111/

(Ahhh...Love is old, love is new...)

Verse 3 Progression:

C#m ////1//// Ebdim: //// | G#maj //// | Amaj //// C#m //// | A7 ///] 1 A7+13 //// |

(Because the sky is blue, it makes me cry)

Outro Instrumental Verse:

Dmaj //// 1 Ddim //// | C#m //// 1 //// Ebdim: //// | G#maj //// | Amaj //// C#m //// | A7 ////| AT7+13//// 1
(Ahhhhh)

Dmaj //// | Ddim //// 1 END
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Verse Tablature:
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Bridge Tablature:
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